SdX

=

K% : GOing(2t&4)

14

SIAL JI28E

0l E(0IAIASE)

EIECES

3d6*5

45

s

(2d6+6)*5

0=

12 A

o

22

22
3d6*5

60

Hal

(3d6)*5

old

ZIIX |2

60 [e

S AR

n=

(2d6+6)*5

Lrar ]

ENE]

&Il

X

IS

&Il

2 (05%)

HE (05%)

o A} (05%)

=}
o

3d65 [1]

S

DS (01%)

(2 E) (20%)

43 (01%)

OoiEH A

22 (01%) [4]
RI18t8

2|1
NA(EZBIEE)
(25%)

Ol =/3 0l (05%) [5]

MEZ (10%)

BEE (25%)

N
o

S (10%)

2| (20%)

2 (HE) (25%)

52 (10%) [6]

2B (15%)

[7]

29 (20%)

Oooooooooooooooo‘l>

SLHS (20%)

&0} (05%)

o

I

S2X X (30%)

JIH 2| (10%)

AHIE (05%)

w
a

N

°|2 (01%)

= (20%)

o|lo|lo|o|o|o|o|o|o|Oo|®

ISt (10%)

N
=}

[«

QARE (01%)

£7| (20%)

ERIEEN
8320

ASx 28(20%

T (05%)

H0I(21=01) (01%) [8
a0

X2 EAH20%)

M= (15%)

A0 (2=0H)
sl=zlo

X | X | X | X|X|[X|X|X|X|X|X|X|X|X

e (10%)

S (05%)

& (00%)

RBII42l (10%)

S (20%)

FUEA (01%)

M3 (01%)

ER (01%)

24 (10%)

X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X

= (10%)

313 (05%)

o|lo|o|o|o|o|o|o|o|o|~

3T A5 (00%)

3|1l (818 4/2) [9]

£l

o

IS

225402
2IilA=glol
S
]

oM et 2l AEl

SR

t:HEi}OIH 3%

ot

1d3 + 24 A

96~100 : J| Sl 500(2t &M CHAIH
100: DI SXI 50 Ol &4 CHA TH

SUAHEE FA

1d102 22 M 10X12I2 AtE
2UA FAR0E K2 =XE ME

HEEIOIH &2 X E AMS







SAX 23S

K% : GOing(2t&4)

M= 10

2 20} (asdf39)

sora

s

(2d6+6)*5

0= 10 | 10

Hal

(3d6)*5

Z=IIX

old 50 50

O0ls=

PR

an= [ [ 30

= &Il

=}
o

3d6*5 [11] =4t

2 (05%)

HE (05%)

o A} (05%)

e

D18 (01%)

AA(AE) (20%)

43 (01%)

OoiEH A +1D4

8t (01%) [14]

+
SIEH(RIIBI)

M2 (BEINEE)
(25%)

0l /2 01 (05%) [15]

Al +1

HEZ (10%)

HEH (25%)

HE (10%)

227 (20%)

2EE(HE) (25%)

&2 (10%) [16]

2 (15%)

7]

291 (20%)

SUHE (20%)

S0k (05%)

S2X X (30%)

JIH 42| (10%)

AHIE (05%)

2|2 (01%)

=9 (20%)

A28 (10%)

gt..)\1c><3<:c)oagooc>c><3<3<3ooc>c>c>-|>

o

o122t (01%)

£I (20%)

210)(2201) (BR)
20!

N
o

o

ST 28(20%

QT (05%)

01(A=201) (01%) [1
=Ll

w
o

N

2 EAH20%)

M= (15%)

X | X | X | X|X|[X|X|X|X|X|X|X|X]|X

et (10%)

B8 (05%)

H & (00%)

42l (10%)

S (20%)

AEA (01%)

M (01%)

| ZE (01%)

St (10%)

X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X

E3 (10%)

3131 (05%)

o|lo|lo|o|o|o|o|o|o|o|o|o

=W [=1N =N = W
OOOOOOOOOOOOOO_’;U‘omOOOOOOOOOOomOOOO#mOOOO\J

IEF A3 (00%)

51T (21 4/2) [19]

£l

o

(VR
H0 =

1

RIS RS

maH

96~100: J| =X 50012 2 CH&!

1d3 + 24 A

DE [20] ~
- 100: D15 X 50 Ol AL M Chal

220

SUAHEE FAL

1d102 224 A 10X2I2 A2

EUA FAR0SE K2 =XE ME

HEE0H &2




SIAL JI28E

K% : GOing(2t&4)

M= 10

20| A (Al Z)

M

s

(2d6+6)*5

0= 11 | 11

EE

Lol

Hal

(3d6)*5

Z=IIX

old 55 55

=
S

XY

O0ls=

IS8+ [2

an= [ [ 30

= &Il

g ALAE DI

2 (05%)

HE (05%)

o A} (05%)

=}
o

3d6*5 [21] =4t

e

AA(AE) (20%)

43 (01%)

OoiEH A +1D4

T8 (01%)
8t (01%) [24]

H2S

A (REIEE)
(25%)

0l /2 01 (05%) [25]
(=%

+1

Ol = (IOt \-)

oo NN |lO|O|O

MEZ (10%)

=)

BEE (25%)

= (10%)

2| (20%)

2 (HE) (25%)

252l (10%) [26]

2B (15%)

[27]

29 (20%)

SLHS (20%)

&0} (05%)

S2X X (30%)

JIH 2| (10%)

AHIE (05%)

°|2 (01%)

= (20%)

ISt (10%)

QARE (01%)

£7| (20%)

ERIEEN
8320

ASx 28(20%

T (05%)

0(2A=01) (01%) [2
a0

X2 EAH20%)

M= (15%)

HO|(ZED)

X | X | X | X|X|[X|X|X|X|X|X|X|X|X

e (10%)

S (05%)

& (00%)

RBII42l (10%)

S (20%)

AEA (01%)

M3 (01%)

| Z= (01%)

24 (10%)

X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X
X

= (10%)

313 (05%)

3T A5 (00%)

X[ X[ X|X [ X[X|X|X|X|X|X|X|X|X|X|X|X|X|X|X

3|1l (218 4/2) [29]

£l

N N =N = 1N >
oooooooooooooooccooooowmooowooomoooooooc)c)o-l

OlLAXIHE 400, &8 S,
EAtel, 22, 8449,

J| TH

ot

DE [30]

1d3 + 24 A

96~100 : J| Sl 500(2t &M CHAIH
100: DI SXI 50 Ol &4 CHA TH
SUAHEE FA

1d102 22 M 10X12I2 AtE
2UA FAR0E K2 =XE ME

HEE0H &2




[1] 82, 06H,018,0/ 4 AS Mo 22 AR A ZDE HES AUS
2 H T, AT E) DR R

[2] &0l et C+HS

ex) WS4, WF 2+ H2
oY BEiE )sE 2YA Y
[3] Xl5*2

At Estedlss 28+ US

[4] £t
& 2Holl

| Sr0lct ot SOt HF &I 20l A=

ZO0FE HOUFMR

F-IE

-

(] BRI USR @I HE20l N2 Z0FE Eoll : 0F & LICH
220 M= Z0FE R FAME

m
X
m
W

AMEA ZUH HHF=M2 ex) &I, )],
X 5

[8]/d|TIOIEE’§8H—’FJOIt§*LIC}.
22H0 NS ZE0FE HUH MK
22 0=E)el=J1s0150 014013 10 St 2HA I USLICE

[9] 2H2I MEA BHH0ILE 5T MEIFS. 1212 S0l 012181 ALRIIS
S22 S2 42018 3| TJ10|2ICH B2 22A XL &2

[10] D& 2 X|

MAZS A Ol=Xl O|&421ER ESI| D&EO| T

[11] #2,TI5H,014,01 8 AS KQGHH 22 A D5HAH ZUE HIBS US

= 3*°“,EH/C\‘>'2,EH"'HH,’C§DI 2 M

ma&awmau%

ex) WS*4 , M 2+22*2
D peiE s 24 UE
[13] Xl 52

At Estedlss 28+ US

[14] €2=51 1 BH8H0I 2} 6HE! B210H L2 W01 N0 AR 2 0FHS X oH 5 OF EFLIC
U0 M F 20HE HOIFAIR

[15] B0 S 50| 20 IS 20HS S 6h 3 OF BFLICH,

U0 MR 20HE HOIFAIR

[16] 2HEr 8t O, 20HX10| 22 #ES 22 ASLIT

[17) CHE 2FT OIS ASA Lo MOIFEA Q ex) 2=, =, 2

2T |55 otLIJt 50% Ol A101 % [HE 2& M J| ST 8818 10% S IHELICk

OFE Holf 5 OF & LICH

g8 Jl=% &tB18t10% SOterLIt



220 AR Z20FE B0 FME
22 0=)12l=J1s0150 01&01H 10 St 2UH A USLICH

[19] 2Hel MEABHA0IL ST M. 12250 o H AIE It s
SUH22S2 4201 3 UIDE0I2ICH BtA2 BA X el

[20] D& ==X

MBS M 0l==Xl Ol&4eI B3R EI| &0l HCt

[21] & 2,1I6H,01 4,014 '% HelotH 22 ALHA Z2UE HIESUS
Ch 23 A3, EH*'JLH,"DI a2 M2

[22] =0l tua CtE

ex) IWB*4 , NS 2+2*2

SR #345' JI“C’ SE+=UB

[23] XIs*2

2Dt dot=dlss 22+ U

[24] St=otH Dtstolct ot 8IS &I =20l M= =0FE Eolf 3 OF & LICH
220l N2 20E 2 =AMR2

[25] BRItHS &I 20l M= =0FE Eolf 3 OF & LICH
U'i*Oﬂ MI ZO0FE A0 FME

[26] 2+EHE O, ANHXID| 22 dsS EUsU

271 CHE 288 JIs ArSAl 20l B0 =M ex) &, =0, Z2
28E JIsSotLI50% Ol &0I1H GHE 2E & Jl=k &8 10% SOt LIC

[28] NI 20FS &oll 3 OF & LICH
220 AR Z20FE B0 FME
2= 00=)12l=J1s0150 01401 10 St 2H A USLICH

A

[29] 2l HFAl 220U 3l &E0ts. 12220 O
Jt

sl &€= s2 d501H 2 UJF0l2!IC EtH 2 S3 A

[30] D& X
AZHS B A 012X 01AH0I 2 0| TEO| LT

A



